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RATIONAL NUMBERS

1. Find four rational numbers equivalent to

each of the rational numbers :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5hEHCMYop60n

o Watch Video Solution

2. write each of the following rational,

. . . 3 7
numbers with positive denominator FOSETE
-5 —13
-2 -8

o Watch Video Solution



https://dl.doubtnut.com/l/_5hEHCMYop60n
https://dl.doubtnut.com/l/_FvLPTB4D1gX4

3. Express T3 as a rational number with

positive numerator.

o Watch Video Solution

4. express — as a rational number with

(i)numerator=-12.(ii))numerator =20.

o Watch Video Solution



https://dl.doubtnut.com/l/_97D0JNGY5QzI
https://dl.doubtnut.com/l/_BJPRcvP1f1rr

5. Express Tas a rational number with (i)

denominator =32 (ii) denominator =-40 .

o Watch Video Solution

— 36

13 as a rational number with

6. Express

denominator =4.

o Watch Video Solution



https://dl.doubtnut.com/l/_eE3OhK8knIcr
https://dl.doubtnut.com/l/_WHRs5qRqTn9a

27

as a rational number with

7. Express

denominator = 5.

o Watch Video Solution

8. Express each of the following numbers in

standard form:

.21
RES
(i) — 32
I 4—0.

A(')S
() &


https://dl.doubtnut.com/l/_wdra8OiJfbBc
https://dl.doubtnut.com/l/_h38zL9PoUHHc

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_h38zL9PoUHHc

— 247

598 in standard form.

9. Express

o Watch Video Solution

— 15 d 0 ivalent
18 an _—are eqU|Va en

10. show that

rational numbers.

° Watch Video Solution

-3 €T
1. ind 2 such that —— and
8 —24

are

equivalent rational numbers.


https://dl.doubtnut.com/l/_lm6Q8RakN5Eq
https://dl.doubtnut.com/l/_5n47PjK0I7Cc
https://dl.doubtnut.com/l/_10OgGN1n0PVD

A. -12

C.12

D.9

Answer: D

° Watch Video Solution

1

12. Represent Eand— 50N the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_10OgGN1n0PVD
https://dl.doubtnut.com/l/_PDQIWBXPjfky

2 2

13. Represent 3 and — 3 on the number

line.

o Watch Video Solution

13 —13

14. Represent E and 3 on the number

line.

° Watch Video Solution



https://dl.doubtnut.com/l/_PDQIWBXPjfky
https://dl.doubtnut.com/l/_wVVCTrhQhRUx
https://dl.doubtnut.com/l/_WIB0C1RDkkQt

15. Which of the two rational number is
greater in each of the following pairs ?

2

(|)§or0

.. —3 ol -9 0
(ii) = or O(iii) e or

A (i 2

(i) O

iy 2
") — 3

B. (i 2
(i) 0

(i) O


https://dl.doubtnut.com/l/_ZCt6wYHJD5mS

C.(HoO
(i) O
(i) — 3

D. (i) =
(ii) —

(i) —

| © | w

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZCt6wYHJD5mS

16. Which of the rational numbers 1—14 and
2

I is greater ?

C. both are equal

D. can not compare

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Kz3jbtrOnZmD
https://dl.doubtnut.com/l/_dhjtLE58gCA0

17. Which of the two rational number —3 and

—4
= is greater ?

C. both are equal

D. can not be compared

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dhjtLE58gCA0

18. Arrange  the rational numbers

-3 7 =5

0 T10° 6 in ascending order .

o Watch Video Solution

19. Arrange the rational numbers
-5 —2

4, : ! and —— in descending

-9 6  —18 3

order.

o Watch Video Solution



https://dl.doubtnut.com/l/_pncZ6p0rM3jM
https://dl.doubtnut.com/l/_iUDatY6U4y4y

20. List five rational numbers between -2 and

-1.

o Watch Video Solution

Solved Examples

5
1. EXAMPLE 1. Add 9 and ——.

—13
9

o Watch Video Solution



https://dl.doubtnut.com/l/_AfalVIEPDCSZ
https://dl.doubtnut.com/l/_Ijeu47rK0wgc

7 3

2. A —.
dd —7 and -

o Watch Video Solution

3.. Add —2 d 5
- Tan Z.

o Watch Video Solution

T 7 11
4. Simplify: o + TR

o Watch Video Solution



https://dl.doubtnut.com/l/_aJNiVsyZuwgI
https://dl.doubtnut.com/l/_q1GrdvqDpKER
https://dl.doubtnut.com/l/_gce1Jz0RDQy0

-3 —5
5. EXAMPLE 5. Add T and E

o Watch Video Solution

—5
and ——

6. EXAMPLE 6. Add T EEDR

o Watch Video Solution

7. EXAMPLE /. Find the

5 -7 11
9 13 T8 )

sum:

o Watch Video Solution



https://dl.doubtnut.com/l/_mhKoW0hBuvm9
https://dl.doubtnut.com/l/_Ms85ZHEqGwTI
https://dl.doubtnut.com/l/_0ZdmdnAoRWTG

8. EXAMPLE 8. Express each of the following
rational number as the sum of an integer and
a rational number:

, — 22
() — (H) —

o Watch Video Solution

2
9. EXAMPLE 9. Rahul walks 3 km from a place p

towards east and then from there 15 km


https://dl.doubtnut.com/l/_0ZdmdnAoRWTG
https://dl.doubtnut.com/l/_CU8tbUBxqnfX
https://dl.doubtnut.com/l/_e72DU4K8wAxU

towards west. What is his position now from p

?

° Watch Video Solution

10. EXAMPLE 1. Find the additive inverse of:

o -1 8 12
(i) 9 (ii) — (iii) 3 (iv) 13

o Watch Video Solution

3 2
11. EXAMPLE 2. Subtract (i) Z(from)g (ii)

—5 —2
- (from) ==


https://dl.doubtnut.com/l/_e72DU4K8wAxU
https://dl.doubtnut.com/l/_8HgAaYEk0P7w
https://dl.doubtnut.com/l/_jf5LV0YCLp1X

° Watch Video Solution

12. The sum of two rational numbers is -5. If of

—13

the numbers is , find the other.

o Watch Video Solution

13.. What should be added to %7 to get g ?

o Watch Video Solution



https://dl.doubtnut.com/l/_jf5LV0YCLp1X
https://dl.doubtnut.com/l/_Miv6OXAkULaf
https://dl.doubtnut.com/l/_XDmNsS8PGGKO

—2
14. What should be subtracted from S to
5)

t—7?
& %

o Watch Video Solution

15.. Find the product:

2 9 3 -9 ,. —4
(|)§ X 7(”)Z X (T) (|||)T X 0

° Watch Video Solution

—-36 —14 —8 39
X X

16.. Simplify: (i) 9 (ii) 13~ 4



https://dl.doubtnut.com/l/_VRkd7X0d4ktd
https://dl.doubtnut.com/l/_qEWVYyLRJwhr
https://dl.doubtnut.com/l/_Pn0spk5BjeuB

\ o Watch Video Solution

17. simplify: () (7)(18) x ( — 4)

(—=36) x ((=5)(9))

(ii)

o Watch Video Solution

18.  Simplify: (i) B
R IMplIITV: |
P 9 ~ 100
11 —91
X
9 " _u

(i)

° Watch Video Solution



https://dl.doubtnut.com/l/_Pn0spk5BjeuB
https://dl.doubtnut.com/l/_kZD0Ibv5rHs8
https://dl.doubtnut.com/l/_xgY77hQ2OqGs
https://dl.doubtnut.com/l/_YExGkhCjVBPK

19. S car is moving at an average speed of

56(%) km/h. How much distance will it cover

1
in 7(5) hours ?

o Watch Video Solution

20. . Write down the reciprocal of:

(i) 1_73 (ii) _TS (iii) -6

° Watch Video Solution



https://dl.doubtnut.com/l/_YExGkhCjVBPK
https://dl.doubtnut.com/l/_K6NY1wNASe5t

21. EXAMPLE 1. Simplify:

8 2 — ,
(|) — = — (||) — - — (|||) (iv)
—9 . —3
20 ° 10
o Watch Video Solution
22. Fill in the blanks:

(27)(16) = (...) = ( — 15)(8).

o Watch Video Solution



https://dl.doubtnut.com/l/_A2WHJ20Q8GCL
https://dl.doubtnut.com/l/_vqWhMKjwojt4

23. The product of two rational numbers is

—4
5 If one of the numbers is 15 find the

other.

o Watch Video Solution

24. By What number should ( — 33)(8) be

divided to get ( — 11)(2) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bd4ptkJipmwe
https://dl.doubtnut.com/l/_bILBcgkyt5iw

1
25. The cost of 15 pencils is R337§. Find the

cost of each pencil.

o Watch Video Solution

26. S car is moving at an average speed of 563

1
km/h. How much distance will it cover in 75

hours ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9iZZTCBSc7n4
https://dl.doubtnut.com/l/_PiP8Fko86nIa

27. Write down the reciprocal of:

13 =8 L 6
(i) - (ii) 9 (i)

o Watch Video Solution

28. EXAMPLE 1. Simplify:

o Watch Video Solution



https://dl.doubtnut.com/l/_XNz0DjA1kVDj
https://dl.doubtnut.com/l/_cLoQoZF3xeai

—15
29. Fill in the blanks: i—g + (o) = —.

o Watch Video Solution

30. The product of two rational numbers is

——. If one of the numbers is _—4, find the
9 15

other.

o Watch Video Solution



https://dl.doubtnut.com/l/_4McaHwmgr60T
https://dl.doubtnut.com/l/_ykwpaPMinV4q

31. By What number should ( — 33)(8) be

divided to get ( — 11)(2) ?

o Watch Video Solution

1
32. The cost of 15 pencils is R337§. Find the

cost of each pencil.

o Watch Video Solution



https://dl.doubtnut.com/l/_ECpHGCGQPnZy
https://dl.doubtnut.com/l/_AkiqcvQxShTN
https://dl.doubtnut.com/l/_steVfX6aHgcx

1. What are rational numbers? Give Examples
of five positive and five negative rational
numbers. Is there any rational number which

is neither positive nor negative? Name it.

° Watch Video Solution

2. Which of the following are rational

numbers?

5
—8
(i) __6
i 11

7

(iii) i

(i)


https://dl.doubtnut.com/l/_steVfX6aHgcx
https://dl.doubtnut.com/l/_W485W4JEmnbz

(vi) -3

(vii) O
... 0
(VHI)T
1
('X)ﬁ
00 2
X) 0

o Watch Video Solution

3. Write down the numerator and the

denominator of each the of the following


https://dl.doubtnut.com/l/_W485W4JEmnbz
https://dl.doubtnut.com/l/_gdaU8sgfkdUv

rational numbers:

)8

(i) 19

i 5

II) —_8

... —13
(iii) 5
. —8
V) =33
(v) 9

° Watch Video Solution

4. Write each of the following integers as a
rational number. Write the numerator and the

denominator in each case.


https://dl.doubtnut.com/l/_gdaU8sgfkdUv
https://dl.doubtnut.com/l/_LDYjo9uZoV85

(v) -23

o Watch Video Solution

5. Which of the following are positive rational

numbers?

3
—d
(i) —11
i) —=

(i)


https://dl.doubtnut.com/l/_LDYjo9uZoV85
https://dl.doubtnut.com/l/_0o04zGsla8M9

(vi) 8

° Watch Video Solution

6. Which of the following are negative rational

number?
— 15
—4
(i) O

(i) —9
i T

(i)


https://dl.doubtnut.com/l/_0o04zGsla8M9
https://dl.doubtnut.com/l/_lNHhDEBu7KDi

o Watch Video Solution

7. Find four rational number equivalent to

each of the following.

§)
11
iy =
W5
7

(iii) 1

(iv) 8

(i)


https://dl.doubtnut.com/l/_lNHhDEBu7KDi
https://dl.doubtnut.com/l/_jGTmO1wgtWsb

(v) 1

(vi) -1

° Watch Video Solution

8. Write each of the following as a rational

number with positive denominator.

12
V7
o1
(ll)_—2
.. —38
(III)_—]_9
] 11
(IV)_—6

o Watch Video Solution



https://dl.doubtnut.com/l/_jGTmO1wgtWsb
https://dl.doubtnut.com/l/_14dQptFouqm6

9. Express 3 as a rational number with
numerator
(i) 15,

(i) -10.

° Watch Video Solution

10. Express - as a rational number with
denominator
(i) 21,

(i) -35.


https://dl.doubtnut.com/l/_14dQptFouqm6
https://dl.doubtnut.com/l/_CXp6CVsYIQcS
https://dl.doubtnut.com/l/_SJpRHNwuXE49

° Watch Video Solution

11. Express _1:132 as a rational number with
numerator

(i) -48,

(i) 60.

o Watch Video Solution

12. Express 47 > 2@ rational number with

denominator


https://dl.doubtnut.com/l/_SJpRHNwuXE49
https://dl.doubtnut.com/l/_3k3pWPXgJXFC
https://dl.doubtnut.com/l/_dMu51QngS8FL

(1) 22,

(i) -55.

° Watch Video Solution

13. Express — as a rational number with

numerator

(i) 56,

(i) -70.

o Watch Video Solution



https://dl.doubtnut.com/l/_dMu51QngS8FL
https://dl.doubtnut.com/l/_qK5SgePKWELC

13
14. Express —— as a rational number with

denominator
(I) -40’

(i) 32.

° Watch Video Solution

— 36

o as a rational number with

15. Express
numerator
(i) -9,

(i1) -6.

| & I


https://dl.doubtnut.com/l/_OKubB11Njsol
https://dl.doubtnut.com/l/_5KuwyhkClZ2e

| ¥ Watch Video Solution |

84

16. Express as a rational number with

denominator
(1) 7,

(i) -49.

° Watch Video Solution

17. Write each of the following rational

number in standard form:

35

(i) 0


https://dl.doubtnut.com/l/_5KuwyhkClZ2e
https://dl.doubtnut.com/l/_xtalobhiNnRB
https://dl.doubtnut.com/l/_a9ncMeEkjUgn

8
— 36
. —27
(iii) T
—14

—49
91

— 78
— 68

119
— 87

(vii) T

.. 299
(viii) T

(i)

(iv)

(V)
(vi)

o Watch Video Solution

18. Fill in the blanks:

-9 27 —45
(i _ e

5 20 -


https://dl.doubtnut.com/l/_a9ncMeEkjUgn
https://dl.doubtnut.com/l/_IoRmqgZOgz3B

° Watch Video Solution

19. Which of the following are pairs of

equivalent rational numbers?

13 39
Y |
(i) 3 —6
V'] 16
(i) 9 —-36
11 4, —]_6
7 _—928
) 35 50
w3 1
"1 1
(vi) 23

Vi §,§

| e |


https://dl.doubtnut.com/l/_IoRmqgZOgz3B
https://dl.doubtnut.com/l/_mrNr5P7e1xdK

& Watch Video Solution

20. Find x such that:

-1 8
V5 =3
LT
W=3=%
.3 T
(iii) §3— —or
, . —65
(iv) e
16
(V) — = —4
X
(vi) —®_,
xr

° Watch Video Solution



https://dl.doubtnut.com/l/_mrNr5P7e1xdK
https://dl.doubtnut.com/l/_vH3Ymv2GH0YY

21. Which of the following rational number are

equal?

.8 —10

(i) 5 (and) 5
—3 7

(ii) —(and) —57

... —38 15

(iii) — 4(and) 51

o Watch Video Solution

22. State whether the given statement is true
or false:

(i) Zero is the smallest rational number.


https://dl.doubtnut.com/l/_s4MSRvTFwTjP
https://dl.doubtnut.com/l/_2dGEgj0VVjlG

(i) Every integer is a rational number.

(iii) The quotient of two integers is always a
rational number.

(iv) Every fraction is a rational number.

(v) Every rational number is a fraction.

o Watch Video Solution

1. Represent each of the following rational

number on the number line:


https://dl.doubtnut.com/l/_2dGEgj0VVjlG
https://dl.doubtnut.com/l/_qidTC9dons1L

° Watch Video Solution



https://dl.doubtnut.com/l/_qidTC9dons1L
https://dl.doubtnut.com/l/_HZJpgdmgQbON

2. Which of the two rational number is greater

in each of the following pairs?

(i) %(Zr)o

(ii) ;T(Or;()

(i) = (or) 2

() o (or) 5

(v) 1—16(01") _511
(vi) _41 > (or) _41 !

o Watch Video Solution



https://dl.doubtnut.com/l/_HZJpgdmgQbON

3. Which of the rational number is greater in

each of the following pairs?

o Watch Video Solution



https://dl.doubtnut.com/l/_oSZKXAfgluVb

4. Fill in the blanks with the correct symbol

outof >, = and < :
i) -3 6
) = T3
(i) 5 —35
) —73 97
(i) —2 —13
i T
(iv) —2 5
V) 5= 3
)0.... —
v)0.... —

—5
O —_—"
Vi) 5= g

o Watch Video Solution



https://dl.doubtnut.com/l/_IdbzEPEsEVjz

5. Arrange the following rational number in

ascending order:

2 7 8 13
5710’ 15’ 30

-3 5 _—_7 9
4 —12° 16 —24
-3 7 —11 17
10’ —157 20 > —30
5 -7

—6’ 12

(i)

(ii)

(iii)

(.)2 3
V) 35 4

o Watch Video Solution

6. Arrange the following rational number in

descending order:


https://dl.doubtnut.com/l/_DwPNG9h23u1b
https://dl.doubtnut.com/l/_XXK8eUcGzITe

o 11 7 19
AT 5 7 "0~ T30
1119 7 =2
5 " T30~ "0~ 5
9219 7 —11
“ %5~ T3~ "0~ 15

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XXK8eUcGzITe

7. Which of the following statements are true?

(i) _T lies to the left of O on the number line.

(1) - lies to the right of O on the number

line.

1 —5
(iii) g(and)T lies to opposite side of O on

the number line.

3 lies to the left of O on the number

(iv)

line.

—5 —5
(v) —— lies on the right of " on the

number line.

o Watch Video Solution



https://dl.doubtnut.com/l/_r8YOWaJERRqm

8. Find five rational numbers between -3 and

-2.

o Watch Video Solution

9. Find five rational numbers between -1 and 1.

o Watch Video Solution

10. Find five rational numbers between

—3 —1
5 (and) =~



https://dl.doubtnut.com/l/_C1497N3RmjPg
https://dl.doubtnut.com/l/_dSoDPteGOFAt
https://dl.doubtnut.com/l/_gi3CkUtb5bHs

o Watch Video Solution

1. Add the following rational numbers :

i) 12 q 3_
| - an 7
(i) —2 d 1
i = an =
Gii) 3 q 1
i 3 an 3
. =5 7
(|V)Tand_—11
V) 9 q —11
V139" T3
=2 5
(vi) —and —

9 9


https://dl.doubtnut.com/l/_gi3CkUtb5bHs
https://dl.doubtnut.com/l/_16tBOxprgSly

—11

(vii) — 1?7 and 9
.o — 3 5

(vii) — and —

7 —7

° Watch Video Solution

2. Add the following rational numbers :

=2 4 3
() —5-and g
=5 q 2
(||)Tan 3
(i) ( — 4) andl

2
— 5

(iv) —7and —
27 18


https://dl.doubtnut.com/l/_16tBOxprgSly
https://dl.doubtnut.com/l/_NpsLQhr1VNFp

(vi) — and —

24 18
2 —15
(V|||) _—Zand T

o Watch Video Solution

3. Evaluate :
L —3 7 —1
b5 t5t 5
(i —12 N 3 N —2
) — + — + —
7 7 7
( 11 N 3 N 1
1] —_12 —_8 Z
(iv)_16 L+ -5 7
9 12 18
1 —2
-3+ =+ —
(V) 3 =
(vi) — 13 -+ 0 + —!
8 16 4



https://dl.doubtnut.com/l/_NpsLQhr1VNFp
https://dl.doubtnut.com/l/_YkIiXcMY1Ie7

L ® Watch Video Solution

4. Evaluate

8 9

(i) = T3

i 7, 13
Y70 T T15 T 20
(iii) —1 + ’ 1
11 9 + 12
(iv) —— + ° g
V' 739 T 96

(v) 2 + -1, =3

Y 2 4
vy — 4 2 4 =3
W1 T3 g

o Watch Video Solution



https://dl.doubtnut.com/l/_YkIiXcMY1Ie7
https://dl.doubtnut.com/l/_aaxoccVgEDlf

5. Express each of the following rational
numbers as the sum of an integer and a

rational number :

12

(l)?

.. —11

==

... — 2D

(IH)T
— 103

20

(iv)

o Watch Video Solution



https://dl.doubtnut.com/l/_vsgYrqX9iunX
https://dl.doubtnut.com/l/_NZ7kfCQrvxXu

1. Find the additive inverse of :
(1)5
(ii) -9
Gii) 3
i 1
—11

15
15

—4
—18
—13

(vii) O

1

(iv)
(V)
(vi)

° Watch Video Solution



https://dl.doubtnut.com/l/_NZ7kfCQrvxXu

2.Subt t-(')3f .
- Subtract : (i) -from o

(i) — 9 1
I 6 om 3
—8 -3

(iv) _Tfrom -1
— 18

11
-6 . -4 9
omT(vul) -7 from — (ix) §from (-2)/(3)

(V)

om1(vi)(-13)/(9)om0(vii)(32)/(13)

(z)50m (-3)/(5)

o Watch Video Solution



https://dl.doubtnut.com/l/_5fkvt1iOznYJ

3. Evaluate:
(i) (3)/(4)(4)/(5)(74)-3-(4)/(7)(417)(7)/(24)-
(19)/(36)(iv)(14)/(15)-(13)/(20)(v) (4)/(9)4(2)/(-3)

(vi)(7)/(1)- (-4)/(11) (vid)(-5)/(14) — -2

7
(i) -5 =3
viii - 1
o Watch Video Solution

— 36 49

4. Subtract the sum of 11 and 2 from the
‘ 33 d —19

sum o 5 an 1

° Watch Video Solution



https://dl.doubtnut.com/l/_lGiYFuvHW0RW
https://dl.doubtnut.com/l/_FTmrLPaxX84O

5. The sum of two rational numbers is o7 If

one of them i57 , Find the other .

o Watch Video Solution

6. The sum of two rational numbers is T If

3
one of them is 16’ Find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_FTmrLPaxX84O
https://dl.doubtnut.com/l/_I9XIHZqPkEay
https://dl.doubtnut.com/l/_WGUnY3cnqO2M

7. The sum of two rational number is -3. If one

find the other

of them is

° Watch Video Solution

—4
8. The sum of two rational number is - If

one of them is -5, Find the other.

o Watch Video Solution

3 5
9. What should be added to 3 to get E?



https://dl.doubtnut.com/l/_bacp9AAonTyn
https://dl.doubtnut.com/l/_xGqgtyRssIZT
https://dl.doubtnut.com/l/_GnsxHXwSLCG9

o Watch Video Solution

10. What should be added to 3

to get 37

o Watch Video Solution

—5 —2
11. What should be added to = to get T?

o Watch Video Solution

2
12. What should be added to 9 to get -1?



https://dl.doubtnut.com/l/_GnsxHXwSLCG9
https://dl.doubtnut.com/l/_V7D1UP1DAa1J
https://dl.doubtnut.com/l/_XBVqneEMOult
https://dl.doubtnut.com/l/_CbU2dioxph8s

o Watch Video Solution I

—13 -3
13. What should be added to (T - T)

toget1?

o Watch Video Solution

—3
14. What should be subtracted from e to
5)

et — 7
5 %

° Watch Video Solution



https://dl.doubtnut.com/l/_CbU2dioxph8s
https://dl.doubtnut.com/l/_6SAbqtvqBxDP
https://dl.doubtnut.com/l/_arLCwnJgopoB
https://dl.doubtnut.com/l/_dTtdZYR5af4g

—2
15. What should be substracted from 3 to

t_5?
et — ¢
&€ 76

o Watch Video Solution

—3
16. What should be substracted from e to

get1?

° Watch Video Solution



https://dl.doubtnut.com/l/_dTtdZYR5af4g
https://dl.doubtnut.com/l/_XVJibPTo9QFH
https://dl.doubtnut.com/l/_MhsvB8oJp5Sc

1. Multiply :

(')3b °
)7 y7
(")9b 32
i 3 Y 5

(iii)(7)/(6)by24(iv)  (-2)/(3)by(6)/(7)(v) (-12)/(5)

by——
Y3
i) 25 3
Vi) —— by ——
—9 7’ "10
o — 7 —40
(vii) 0 by 7
— 36 20
b
(viii) : y —3
—13 — 25
. by 22
() =5~ =55

o Watch Video Solution



https://dl.doubtnut.com/l/_MhsvB8oJp5Sc

2. Simplify :

3 4
W29 *3
=T 5
(i) 30 X 11
(i) 5 y -9
") ——- S
—18 © 20
-9  —16
X
(i) — 3
7
—32 X —
(v) 36
i 16 —14
VI _21 X 5

0 Watch Video Solution



https://dl.doubtnut.com/l/_FIJsPKagxG2T

TP (
3. Simplify : (i) o X — 48

1
36><6

-3
(iii) T X %
(iv)—13 % 1—7
26

—13

x — 10

(i)

(V)

(vi) —9 . —04
16 27

o Watch Video Solution

4. Simplify :

(13 12 —4 3
(l)(8 X 13)+( 5 % _2)



https://dl.doubtnut.com/l/_gRBFZSWs93zJ
https://dl.doubtnut.com/l/_t614bkTISMOJ

16 —25 —14 6
(15 ) (7 8 7)
6 —22 26  —10
(i (% )_ (125 * 739 )
_12 —14 8 9
7 ) B (—45 8 16)

° Watch Video Solution

1
5. Find the cost of 3§ metres of cloth at Rs

405 per metre .

o Watch Video Solution



https://dl.doubtnut.com/l/_t614bkTISMOJ
https://dl.doubtnut.com/l/_2sulBthRwWnP

6. A bus is moving at an average speed of

2 2
46§Km/h. How much distance will 23
hours?

o Watch Video Solution

1. Find the multiple inverse or reciprocal of

each of the following :

(1) 18


https://dl.doubtnut.com/l/_K98NwuD66Y02
https://dl.doubtnut.com/l/_ay0BpoMyMUb6

o Watch Video Solution

2.Simplify :

.4 (-5
05+ ()


https://dl.doubtnut.com/l/_ay0BpoMyMUb6
https://dl.doubtnut.com/l/_oPP8eJ1eb2X5

g —9
(II)— T(F)

(iii) _—12 +~ ( — 18)

0(5)+(3)
V) (3—1;) . (‘1_15)
(i) ( 135) N (i_37)

° Watch Video Solution

3. Fill in the blanks :


https://dl.doubtnut.com/l/_oPP8eJ1eb2X5
https://dl.doubtnut.com/l/_dqUu5lp9wLLj

) 3
(i) g+ (o) =

(V) (—12) + (o) = —

° Watch Video Solution

. 65 8
4. Divide the sum of EE) andg by their

difference.

o Watch Video Solution

—44
5. By what number should 5 be divided to

—11

?
3

get



https://dl.doubtnut.com/l/_dqUu5lp9wLLj
https://dl.doubtnut.com/l/_3mLZ2QrkobOs
https://dl.doubtnut.com/l/_UqnJ9AC1JlVc

° Watch Video Solution

—8
6. By what number should I5 be mulitplied

to get 247

o Watch Video Solution

7. The product of two rational number is 10. if

one of the numbers is -8. find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_UqnJ9AC1JlVc
https://dl.doubtnut.com/l/_H8R0u8X4TLaR
https://dl.doubtnut.com/l/_s3nkQOEdHIlV
https://dl.doubtnut.com/l/_kA4GFxM6IsxW

8. The product of two rational number is -9 . If

one of the numbers is -12 , find the other

o Watch Video Solution

9. The product of two rational numbers is

—16 . —4
—5 If one of the numbers is 5 find the

other.

o Watch Video Solution



https://dl.doubtnut.com/l/_kA4GFxM6IsxW
https://dl.doubtnut.com/l/_BEHeeYUcFsUJ

—8
10. By what rational number should 39 be

ltipl t t
multiplied to obtain — 26

° Watch Video Solution

11. If 24 trousers of equal size can be prepared
in 54 metre of cloth, what length of cloth is

required for each trouser?

° Watch Video Solution



https://dl.doubtnut.com/l/_RDFuwW7Oue7V
https://dl.doubtnut.com/l/_4mdst6JzEZTh

12. How many pieces each of length 3Zm can

be cut from a rope of length 30m ?

A.5

B. 6

C.8

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VEUI9yUbq5Du
https://dl.doubtnut.com/l/_PPfGRL9yxOuB

1 3
13. The cost of 25 meters of cloth is Rs7SZ )

Find the cost of cloth per metre.

O Watch Video Solution

Exercise 4 G Objective Type Questions

1. Write e in standard form is
A
— 95
B, —>
5
—33


https://dl.doubtnut.com/l/_PPfGRL9yxOuB
https://dl.doubtnut.com/l/_PmVCUQHnJzDb

D. none of these

Answer: B

o Watch Video Solution

2 02 tandard f ' 6(b)6 0
-~ q1g ' standard form is — = - T 17

(d) None of these

A (—4)(7)
—6
B.T
—6
C.—


https://dl.doubtnut.com/l/_PmVCUQHnJzDb
https://dl.doubtnut.com/l/_J3GtJWuXlzjy

D. none of these

Answer: B

o Watch Video Solution

7

3. If% = _—3.Then the value of z is

A —14
B.14
C. 21

D. —21


https://dl.doubtnut.com/l/_J3GtJWuXlzjy
https://dl.doubtnut.com/l/_31Vw5zguFQg8

Answer: A

o Watch Video Solution

—5
4. What should be added to o to get 1?7

o Watch Video Solution

—3
5. What should be subtracted from e SO as

5
t t—7
o get <

A 19
S 12


https://dl.doubtnut.com/l/_31Vw5zguFQg8
https://dl.doubtnut.com/l/_H30RfDODwO8E
https://dl.doubtnut.com/l/_7Jw3EtSwzlf8

Answer: B

o Watch Video Solution

5
6. Which is larger out of —and 127
A —5
"~ 6
-7
B. —


https://dl.doubtnut.com/l/_7Jw3EtSwzlf8
https://dl.doubtnut.com/l/_WHGchjZP8HaC

C. cannot be compered

D. None of the above

Answer: B

° Watch Video Solution

2 —14
7. Which is larger out of 3 and T?

° Watch Video Solution

8. Multiplicative inverse of —6 is


https://dl.doubtnut.com/l/_WHGchjZP8HaC
https://dl.doubtnut.com/l/_r2mbevl6XLym
https://dl.doubtnut.com/l/_Zk6Oa576m83Y

A.6

1
6
—1

C.—
6

B.

D. none of these

Answer: C

° Watch Video Solution

—2
9. Reciprocal of S

A2
3


https://dl.doubtnut.com/l/_Zk6Oa576m83Y
https://dl.doubtnut.com/l/_hDKDhjrgbZoT

B—3
C2

C3
2

D. none of these

Answer: (b)

o Watch Video Solution

1
10. Find the value of X —2§ — 6=X


https://dl.doubtnut.com/l/_hDKDhjrgbZoT
https://dl.doubtnut.com/l/_1a6PXs14Z1lC

C. (4(1)/(9)

D41
9

Answer: (b)

° Watch Video Solution

, —6 —7
11. Find the value of . = T x
A — 181
- 195
, B
195
1

C.——
195


https://dl.doubtnut.com/l/_1a6PXs14Z1lC
https://dl.doubtnut.com/l/_swChVUd0GRv3

Answer: C

o Watch Video Solution

12. Find the value of x

ol 43
3 T 5"


https://dl.doubtnut.com/l/_swChVUd0GRv3
https://dl.doubtnut.com/l/_NJ4Kp2wdrjFZ

D. none

Answer: B

o Watch Video Solution

13. Which is greater between _—4 and _—5?
9 12
a2
9
—5
> 12

C. both are equal

D. can not compare


https://dl.doubtnut.com/l/_NJ4Kp2wdrjFZ
https://dl.doubtnut.com/l/_ZzsYPLmbIlYF

Answer: B

o Watch Video Solution

-9
14. Find the value of x EVE +x= —1

Answer: (b)


https://dl.doubtnut.com/l/_ZzsYPLmbIlYF
https://dl.doubtnut.com/l/_WQp5OvZ30v7Z

° Watch Video Solution

15. Find the val fx-5 ’ —2
. FiN e value o .Z E _—

Answer: (a)

o Watch Video Solution



https://dl.doubtnut.com/l/_WQp5OvZ30v7Z
https://dl.doubtnut.com/l/_nm5UOc6ub3cQ

1
16. Find the value of x if 1 = 3 =z

N
2
B. 2
C. 2
T2

D11
)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nm5UOc6ub3cQ
https://dl.doubtnut.com/l/_SDR24OhxBNdF

-3 5
17. find the value ofxﬂ T D)

A —35
18
5 35
18

c !
"3

D_—7
"3

Answer: (a)

° Watch Video Solution



https://dl.doubtnut.com/l/_zA83kfAOiZx3

18. Find the value of X 0 <+ _T7 =X

A. not defined

Answer: (c)

° Watch Video Solution



https://dl.doubtnut.com/l/_3Ebci7L8bUGm

-3
19. Find the value of x: = ~0==x

D. not defined

Answer: (d)

° Watch Video Solution

Test Paper 4


https://dl.doubtnut.com/l/_ziI1o7sm8d16

1. Express each of the following rational

numbers in standard form :

- —209
W=7
.. —46
=75
84
(iii) 1

o Watch Video Solution

2. which of the following rational number is

lto A2
equal to —
d 6


https://dl.doubtnut.com/l/_30ZRYpynE24e
https://dl.doubtnut.com/l/_JmtTVQ94gwxb

10

33
12

44
42

55
30

Answer: D

° Watch Video Solution

3. The sum of rational numbers is -4. if one of

. Find the other.

them is

| 8 l


https://dl.doubtnut.com/l/_JmtTVQ94gwxb
https://dl.doubtnut.com/l/_Z9tahrKVnRNs

— 5
4. What should be added to T7 to get 5?

o Watch Video Solution

5. A car is moving at an average speed of 563
km per hour . How much distance will cover in

7§hours ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Z9tahrKVnRNs
https://dl.doubtnut.com/l/_1meesY7hdHbw
https://dl.doubtnut.com/l/_QVXEMklqhqk3

3
6. By what number should —4§ be divided to

1
tain —3—=7?
obtain 32

>

N R |ot R R | w

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FdPIfnc3oNSR
https://dl.doubtnut.com/l/_J0VlTBIaKT2k

7.How many pieces of length 3Z m. can be cut

from a rope of length 45 m ?

° Watch Video Solution

1 1
8. Find the cost of 3§ m. of cloth at R5121§

per ,metre .

o Watch Video Solution

9. Write

in simplified form


https://dl.doubtnut.com/l/_J0VlTBIaKT2k
https://dl.doubtnut.com/l/_7FdRXh9oTRJ8
https://dl.doubtnut.com/l/_UO18enIwwFkJ

c — 59
66

D. none of these

Answer: B

° Watch Video Solution

—2
10. What should be subtracted from Tto
3
t —7?
ge A


https://dl.doubtnut.com/l/_UO18enIwwFkJ
https://dl.doubtnut.com/l/_03bpakOgIfHm

—17
12

17
12

—13
17

—12

Answer: A

° Watch Video Solution

11. The product of two numbers is o If one

—5
of them is ? the other number is


https://dl.doubtnut.com/l/_03bpakOgIfHm
https://dl.doubtnut.com/l/_bsurlQdLSKIs

Answer: B

° Watch Video Solution

-3
12. The reciprocal of e is

A3
4


https://dl.doubtnut.com/l/_bsurlQdLSKIs
https://dl.doubtnut.com/l/_8DvBoDSsU6bz

D. none of these

Answer: (c)

o Watch Video Solution

13. Find the value of x

D a= 1
14 T


https://dl.doubtnut.com/l/_8DvBoDSsU6bz
https://dl.doubtnut.com/l/_9yw2gH3PWQ4p

Answer: B

o Watch Video Solution

14. Simplify

3 1

—_ 9 — ?
784 . 22 !

A311
2


https://dl.doubtnut.com/l/_9yw2gH3PWQ4p
https://dl.doubtnut.com/l/_mXIuZCNr7pu9

8393
8

C4O1
-3

D. none of these

Answer: A

o Watch Video Solution

) —7

. -9 -1,

15. Which is smaller 6 and 5
A —5
"6
—7
B. —


https://dl.doubtnut.com/l/_mXIuZCNr7pu9
https://dl.doubtnut.com/l/_XIvBukbYMMXm

C. Cannot be compared

D. both are equal

Answer: A

o Watch Video Solution

16. Fill in the blanks .

o) + (%) B

3
(ii)(_l—ff>+(.......)=z%

(iv) Multiplicate inverse of — 1Zis ..........


https://dl.doubtnut.com/l/_XIvBukbYMMXm
https://dl.doubtnut.com/l/_FK9eOgYfGGnK

° Watch Video Solution

17. Write 'T' for true and 'F' for false each of the

following :

1 lies to the left of O on the number line

(i)

-3
(i) 3 and N lie on opposite sides of 0 on

the number line.

(iii) 3 lies to the left of 0 on the number

line.

o Watch Video Solution



https://dl.doubtnut.com/l/_FK9eOgYfGGnK
https://dl.doubtnut.com/l/_vbi1sktKg6UE




